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P3: ['LfA', 'peakTgtLAl']
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P3 (plot by DAT)
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P3 TsN1 (plot by DAT)
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P3 TsN2 (plot by DAT)
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P3 TsN3 (plot by DAT)
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P3 TsN4 (plot by DAT)
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Days After Budding

P3 TsN5 (plot by DAT)
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P3 TsN6 (plot by DAT)
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P3 (plot by adjDAT)
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Days After Budding

P3 TsN1 (plot by adjDAT)
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P3 TsN2 (plot by adjDAT)
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P3 TsN3 (plot by adjDAT)
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P3 TsN4 (plot by adjDAT)
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Days After Budding

P3 TsN5 (plot by adjDAT)
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P3 TsN6 (plot by adjDAT)
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Plot [['sfTemp’, 'sfInit’, 'sfDev’, 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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Plot EnvOpt Decision

- T 404 —— optT1 700 7
—— Tdew —— optT2
254 To 600 -
35
-0 500 4
301 400 -
15 -
25 300
10 -
200
T T T T T 20 T T T T T
0 5 10 15 20 0 5 10 15 20
hr hr
30 A - T 704 optRH1
—0— LT —— OptRH2 600
60
25
>0 500 - —— PATS C1
50 4 40 /| —— PATS.C2 \
30 ¢
400 -
15 - 20
10 300 -
10 | T T T T T T T T T T T T T T T T T
0 5 10 15 20 0 5 10 15 20 6 8 10 12 14 16 18
hr hr hr
1200 4 |
80
800 - 600 -
40 - —— PAVT C1
600 - war —— PAVT C2
204 — warRH2 500 -
- C
400 -
01 400 -
200 -
20 1
0 - 300
0 5 10 15 20 0 5 10 15 20 6 8 10 12 14 16 18
hr hr hr
—— optVPD —— PATG.T1 ! 1400 -
2.0 - 27.5 ~
—o— leafVPD —— PATG_T2
— airVPD 2501+ —@— T 1200 A
1.5 - 1000
N 22.5 -
\\j 800 -
20.0 -
1.0 . 600 _
17.5 1
05 1504 400 7 —— PATG_P1
' l 200 a — PATG_PZ
12.5 - - P
T T T T T T T T T T 0 - T T T T T T T
0 5 10 15 20 0 5 10 15 20 6 8 10 12 14 16 18
hr hr hr
80 —e— RH —— PATS T1
—— RHo —— PATS_T2
257 o T
70
60 - 207
50 15 -
0 5 10 15 20 0 5 10 15 20
hr hr
—e— AH 1400 -
121 —— AHo
1200 4
11 -
1000
101 800 -
97 600 -
8 - 400 -
7 - 200
T T T T T T T T T T 0 - T T T T T T T
0 5 10 15 20 0 5 10 15 20 6 8 10 12 14 16 18

>
=
>
=
>
=



- 20
--20

_E___-______:-

1 | | | | | | | | | | | | | | | | | | | | 1
OMWOWOoONWMOOWHA<N~NO O OoONWNMOHA< ™~ O MY
N = A N NN ™M MmN - << nmnmmo oo

T 33 -



